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QT 80 7 6 2 22
2. T B ATARIGHR
B I U9l Bl &7 PR gferera
1 SIFHRY / FR0T 5 7 8.75
2 REE 9 28 35
3 STTUATT 5 27 33.75
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. | ST el DI AR | IABHR gferera
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fdsg —ENGLISH Class-5
1. WEIGHTAGE BASED ON THE OBJECTIVE
NO.of
OBIJECTIVE
SR.NO QUESTION MARKS PERCENTAGE
1 REMEMBERING 6 8 10
2 UNDERSTANDING 9 4?2 52.5
3 APPLYING 5 14 17.5
4 CREATING 2 16 20
TOTAL 80 100
2 WEIGHTAGE BASESD ON THE CONTENT
NO.of
SR.NO LEARNING AREA /SKILL MARKS PERCENTAGE
QUESTION
1 LEXICAL ITEMS 7 10 12.5
2 STRUCTURAL ITEMS 8 24 30.00
READING
3 COMPREHENSION AND 5 30 37.5
TEXTUAL QUESTION
4 WRITING 2 16 20.00
TOTAL 22 80 100
3 WEIGHTAGE BASED ON THE TYPE OF QUESTION
; MARKS
NO. O PER .
TOTAL Expected time
SR.NO TYPE OF QUESTION QUESTIO | QUESTIO | MaRKS (Min.)
N N
1 OBIJECTIVES TYPE 4 1 4 8.00
2 VERY SHORT ANSWER TYPE 2 18 27.00
3 SHORT ANSWER TYPE 6 42 70.00
4 ESSAY TYPE 2 16 30.00
TOTAL 22 - 80 150
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Class-5
Subject- English
sample paper
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Lexical ltems (Marks- 10)

Choose the correct answer from the given options-

Q-1 Choose the word which has a different sound of the underlined letters. (1)
(a) near (b) dear
(c) bear (d) deaf

Q-2 There was @ MUSEUM........coviinienienieneennens the Fateh Prakash Palace. (1)

(a) between (b) in (c) upon (d) under

Q-3 Choose the similar word for the given word 'beautiful'. (1)
(a) mask (b) ashes
(c) pretty (d) victory

Q-4 | learned this WOrk ........cccceeiiiiiieeniiniiiieee e, . (2)
(a) herself (b) itself
(c) himself (d) myself

Q-5 Complete the following words with the help of letters given in the bracket. (a, e, i, 0, u)
(1+1=2)

Q-6 Fill in the blanks to make correct sentences with the help of words given in the bracket
(fort, week, weak, brush) (1+1=2)
i.  Chittorgarh ....ccooceeveveeiecieeeees is the symbol of bravery.
ii. Thereareseven daySin a ....ccccccceerceeesiieeeniieeesneee e
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Q-7 Make new words by adding the suffix 'ly' and 'ness'. (1+1=2)
i.  Quick D rvveeeeeeerseeeeeiesineeeesas st e e eeesanns
ii. Lazy T e e e e e e

STRUCTURAL ITEMS (MARKS-24)

Q-: 8 Arrange the jumbled letters to make meaningful words - (1+1=2)
i.  PURELP D iirrteeeesrseeeeiesieeeeesesnneeeeesaanns
ii.  NAIP D iivrteeeeesseeeeeeieiieeeeesessnneeteesans

Q-: 9 Write the opposite gender of the given words - (1+1=2)
i LION e

i GIrl

Q-10-13 Complete the passage and fill in the blanks using the words from the bracket.

(grand, dressed,great, money, moment) (2+42+2+2=8)
At last the (10)..cccceevceeeeiiieeieeeeeieee, day arrived! Roshanlal had enough
(22) e to buy the fastest car in the country. He
(22) e carefully for the moment and reached the
(13) e, showroom.

Q-14 Tick T for true or F for false for the following statements which are given below.
(with reference to the prescribed textbook) (6X1=6)

i.  Kalibai cut the rope with a knife.
ii. Pranayam increases our heart rate.
iii.  The atmosphere of the school should be friendly.
iv.  Ramleela describes the story of Ram.
v.  The Pond started to dry as there was no rain.

[ —

vi.  Kirti stambh was built by Rana Kumbha.
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Q-15 Complete the sentence by matching column A with column B. (6X1=6)

Column- A Column-B
(i) (a) | controls traffic.
(ii) (b) | traffic rules.
(iii) | Traffic police (c) | causes cancer.
(iv) | Always obey (d) | Speed limit 40.
(v) | Tobacco (e) | injurious to health.
(vi) | Smoking is (f) | Take U-turn.

Reading Comprehension and textual Question (Marks- 30)
Q- 16-18 Read the passage carefully and answer the questions given below.

One fine day, when the rats were playing, they heard loud shouts of elephants coming from
the direction of the pond. Mooshakraj realized that elephants were in some danger. He asked
some of the strong rats in his group to come along, and went in the direction of that sound.

Near the pond, they saw the elephants caught in the traps kept by some hunters. The rats
quickly started biting the ropes with their sharp teeth. Soon the elephants were set free. They

thanked the rats and also felt sorry for making fun of their small size.

Q-16 (i) What did the rats hear? (2)
Y T OO
(i) Why were the elephants shouting? (2)
LY PP PPPPPPPRR
(iii) Read the passage and write plural of the following words. (1+1=2)
a) Rat S e ————
b) Tooth S e ——
Q-17 (i) What did Mooshakraj ask? (2)
LAY o PP PPPPTPPPN
(ii) Where were the elephants caught in the traps? (2)
Y PP PRSPPI
(iii) Read the passage and write the opposite of the following words from the passage.
(1+1=2)
a) Weak S e ———
b) Big T ereerereer e eeesnneeeas
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Q-18 (i) How did the rats help the elephants? (2)

LY o PO P PP PPPPPRRRPPPPPIN
(ii) Why did the elephants feel sorry? (2)
LY PPN
(iii) Read the passage and write similar words for the following words. (1+1=2)
a) Loudcry = .,
b) Capture = ..o

Q- 19-20 Read the passage carefully and answer the questions given below-

Miss Fox was really disappointed with her students. They were all beautiful, brave and
capable, but each was so proud of his or her qualities that they did not care about the
other. Everyday they would come to jungledom, the best school in the district. Rabbit was
proud of his quick speed. Nightingale was proud of her sweet voice. Miss Fox was upset
with their attitude. She tried to teach them that every person had a place and a purpose in

life. Only if they work together, the world would be a happy place, but in vain.

Q-19 Answer the following question.

(a) With whom was Miss Fox disappointed ? (2)
Ans:
(b) What was the name of their school ? (2)
Ans:
(c) For which quality was rabbit proud of? (2)
Ans:

Q-20 Answer the following question.
(a) Who had sweet voice? (2)

Ans:
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(b) What did Miss Fox try to teach her students? (2)

Ans:

(c) Read the passage and write one word for the following sentence (2)
I.  One whois strong and without fear. B

WRITING (Marks- 16)

Q-21 Imagine you are Arijeet/Manasvi studying in GUPS Raipur. Write an application to
your Headmaster to grant you leave for three days as you want to attend your cousin’s
marriage. (8)

Ans-

Date

Respected Sir/Madam,
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OR

You are Khushi/Himanshu. Your friend got selected in Navodaya school. Write a letter to your

friend congratulating him/her on his/her success. (8)

Date

My Dear

Yours lovingly

Q-22 Complete the story "The fox and the grapes" with the help of words given in
the bracket. (wanted, jumped, food, garden, fox, grapes, hungry, sour, sweet)

(8x1 =8)
Once upon a time, there Was a (1)...eeeeeverereciiiiiieeineeeeereennnns one day, It felt very

7 T U It went here and there in search of (3)......ccccevvvvvvvrnennee.
reached a (4)...ccccccceevviiiiiiieee e There it saw a bunch of ripe grapes. It
() T to eat the (6).ueeeeiiiiiiiiiiiieeiieicecieeeeeee,
The grapes were high. It (7)., at them again and

again but could not get them. It was sad. It said that the grapes are

(6] I and went away.
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OR

Look at the picture given below. Write four sentences with the help of following
words.  (wild, king, forest, big, roars, sharp teeth) (4x2 =8)

Ans-

(a)

(b)

(c)

(d)
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RISTeRI 159 A o™ U9 UREr uRug, STagR
grifies fRre feRTH IR Jedie-T — 2025
Primary Education Learning Level Evaluation -2025
Fer / Class-5
v —ugtaRor st
Subject- Environmental Studies
T SR 9

Sample Question Paper
T7a / Time :2.30 gve /Hrs.

guries / M.M.80
NTqeAId UG Tol BT (3fH—08)
Observation and Recording (Marks - 8)
7 ey T RAwedt # 9 98 fAeea o

Choose the correct option from the given option

e e # | I A B B e
(31) 3108 <A () 37Tl BT @I HRAT
() U BY e HIAT (8) TR BT GRET HRAT

Which of the following is a work of queen ant-
(a) Laying eggs
(b) Take care of eggs
(c) To safeguard their eggs
(d) To protect their homes

ge: 2 e W AT <eTor Qiferay T BT AgT 87

(3) gEr (@) Rad
() TRGAT BT 4IeT BT (@) BT W H rdhed

Which of the following is not a symptom of polio-

(a) Fever (b) Headache
(c) Yellow tinted anils (d) spasms in hands and legs

(1)

[ ]
(1)

[ ]
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U 3 WYdd U4 Yol URIR H w7 SR 27 faRau(@E i) (6)

What are the difference between joint and nuclear family? Write(any three)

3R/ Ans
TR (fefad /=@l) sidh—12
Communication (expression/discussion) marks — 12
U3 4 AR H o fhdsl 99g % &l 87 (1)
@) 3| 4 ®©C @) 1929 (A) 10 | 12 ©C @) 7w 8 HEC
()
How long does the food remains in the stomach?
(a)3 to 4 hours (b) 3 to 4 hours (c) 3to 4 hours (d) 3to 4 hours
[ ]
UeT: 5 SISl H gl & Ieal AR RIT—aT gl 2?2 gy (@rg dF) (3)

What else is there in a forest besides trees? Write (any three)

3<IX / Ans

g 6 (i) T S8 999 | AN DI DIA—DBA IR BT AHAT ST 9l 57 (Pl 1)
(4x2 = 8)

What problems do people face while settling at another place? (any two)
3<IX / Ans

(i) wRIR® Fear & drasie A # &1 a9y JrFgar gy 272
2
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What special abilities do people have despite physical disabilities?
<IN / Ans

(iii) Tel—Hgeel § HaRT SR TG BT R HRUT 272
What are the reasons for garbage and dirt in the streets and colonies?

3y / Ans

(iv) -3 | Wel §8 SITE(@HR)H Wel I 87
What are the games played in closed place/homes?

3N/ Ans
TTHROT HRAT (3TH—11)
Classification (marks - 11)
3. 7 U 3R Y GG dedl bl TN fhar e a— (1)
(a1) BIEY 3rd (&) s1 3nd
(|) s (@) uRrepr
()
Water and residual nutrients are absorbed by-
(a) small intestine (b) large intestine
(c) stomach (d) oesophagus
[ ]
ve: 8 faar war fo Hdfea 2— (1)
(31) ®fA =0T &1 U (@) afdaTd s

3



() a5 UgoTd (@) ‘e 9 ' T

The given figure is related to- H)
(a)protection from worm infection (b) personal hygiene
(c) clean drinking water (d) both 'a' and 'b'
[ ]
o 9 W™ 3 BT T 9 A Bifvie— (3x1=3)
RSRRR Rt ESE G
(1) Teira NES
(2) TeerREEeT (B) T
(3) == (C) T=ft
Match Column ‘A’ with Column ‘B’
Column ‘A’ Column ‘B’
(1)Rose (A) Seed
(2)Bryophyllum (B) Stem
(3)Chickpea plant (C) Leaf
g 10 SHIF & il Bl Ul H S R AT BRM? Blg A fdvg foriag— (3x2=6)

If the plants that grow on land are grown in water, then what will happen? Write any
three points.
<IN / Ans

AR HRAT / TITATOT FRAT (37H—17)
Explanation/Analysis (Marks - 17)

ge: 11 BISd H U 7Y ol 9 Rad Wi o gid Sy (3x1=3)
(Rfarg, STeir, STea))

Fill up the blanks from the words given in the bracket-
(irrigation, aquatic, Very fast)



(3) S U @Y YT TRH T H A0 .o gl Il 7 |
In hot water,the substances dissolve ..................... in comparison to cold water .
g 12 (i). 3fdReT & &5 § <. fahd IRMIE & Pl 9 ArTeE foRay | (3+3=6)

Write any three contribution of Dr. Vikram Sarabhai in the field of space.
<IN / Ans

(ii). emu® Rl § PH—DAT Bl a5 ol 27 foRau(@rg o )
Which all crops are grown in your district? Write (any three)
3<IX / Ans

(4+4=8)

g 13 (i). AS®H &l 8g DH—D A AN AT BT 9Te= BT A1MeY? PIg R

e ferfgu |

Which all traffic rules should be followed for road safety? Write any four rules.

Jax / Ans

(ii) "Soe AT A3 § 7 | SHBT SHUANT A8l HRAT A12Q " I aTR Bl &9 H @ gU
PIE QT w7 o iy |
"The fuel exists in a very limited quantity. We should not misuse it. "' Keep the above
sentence in mind and make two slogans.



IxIN / Ans

U HAT (3H—09)
Questioning (Marks - 09)

U 14 TG H Red U /Aol | Hafed STMeRT U 6 & oy A9 Ui &1 o

PHITTY | (3x1=3)
Make three questions to collect the information related to well/pond situated in your
village.
3<IX / Ans

ue: 15 = R B <@dx i gt &1 fAHior S |

Looking at the following picture construct any three questions (3x1=3)



3TN / Ans

U 16 "IHAT H Ao STeal TWRIE 81 Sl & " 699 Fafed I ue=t d1 o oo |
(3x1=3)

In summer season, food spoils at a faster rate. Make three question related to this.

3N/ Ans

TIAT BT (3ip—12)
Experimenting (Marks - 12)

g 17 TR & 990 & {0 Sifds @re &1 [Eior o9 H¥ar? (3)

How will you make organic fertilizer for your home’s garden?

IR /A ns




T 18 THI & dacld gU IATBRI DI Dlg dIF Rl & o IA80— (3x1=3)

Draw any three figures of the changes in the shape of the moon.

<IN / Ans

(1)

(2)

(3)

g 19 (i) I g IS &3 # == & AN A & 91 81, ar &1 RN (3+3=6)

If the walls of the houses in the coastal regions are madeup of mud, then what will

happen?

<IN / Ans

(i)

ATATIT: ST Udh S8 OR UT9—UT &} a9d 872 dls oI dRIT IRy |

Generally why do people settle down in one place, near to each other? Write any three

reasons.

<IN / Ans




N 9 GEAT B U WRIeR (3iH—04)

Concern towards justice and equality (Marks - 04)

Ue: 20 U UR &R @ foIv fha—fdoe el & sae # a1 =nfeu— (1)
(@) Y BT gHen MuiRd = 9 R &1 31y |
(@) AT MRT IAT BIRT IR HRA F U8l ¢ U4 TT < |
(M) NI BIRT BT 95 IRDe B 1 T UR T8 BT A1y |

(&) SuWRIad a7 |
Which things we should take care of, while crossing the railway tracks?
1. Should cross the rail tracks from definite place.
2 While crossing unmanned rail track, first see on the left and right side.
3. Should not cross the rail track under the closed bariket
4 All of the above

g 21 399 & A= YR Ud S9d SUIRT & 1w arferet &1 fFHior sifsia— (3x1=3)
Make a table for different types of fuel and their uses.
<IN / Ans
% .™4. /S.No. Y9 BT A9/ Name of fuel JUANT / Uses
1.
2.
3.

TP TR D PRI BT G T oI & T Hm (@fF—07)

Respect and appreciate each other's work and equality (Marks - 07)

g 22 USIfoR™ & YEGHRoT ¥ I+ arell yaref gl 27 (1)
(@) \eIfd I§s
(@) ugrd
() el
(CIRERSIEN

The following substance is not made from purification of petroleum-
1. Synthetic rubber
2 Petrol
3. Vaseline
4 Charcoal



ge: 23 (i)fHdl GUBed & IR 319 rgHa forfey | (3+3=6)

Write your experience about any museum.

3<IX / Ans

(ii) UBTSI WX 9¢ I8 Bk & MR & foly ®Is &l ged I |

Give any two suggestions for disposal of trash(garbage) on the mountains.
<IN / Ans

10
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RIS 159 e e U9 uReor uReg, STagR
gTeTfAeh fR1er STfeNTH R Hedidh- — 2025
Primary Education Learning Level Evaluation -2025
DT — 5
CLASS -5

favg — wfora
Subject- Mathematics

T T T

Sample Question Paper
gy —  2:30 GUS quries — 80

Duration 2:30 hours Max.Marks — 80

JTepfd Td I Bl qHe (3ih—7)
Understanding of shape and space (marks-7)

e 1 AR T # QUs 31d 3:00 991 G P AE g €S I GS §RT IR0

AT DT 53— (1)
(&) RIT DI @) 3TferH PIoT
()THBTOT () AR BIT
()
What is the angle made by the hour hand and minute hand of a wall clock
at 3:00pm-
(a) Acute angle (b) Obtuse angle
(c) Right angle (d) Straight angle
[ ]
U 2 AIQ P WERAT | PV FIST— (2+2+2=6)
Make the following angles with the help of a protractor-
L =g PIVT/Acute angle

. 3AfeP PIV/Obtuse angle

ROUGH WORK
IH FRT


https://whatsapp.com/channel/0029VadqQpq6hENvYjljCv0s

U3 3

U3 4

U39 5

. RSl PIVT/Straight angle

G S DI FHST (3ih—16)
Understand the number syatem (marks-16)

2 faw Ty faaRa wu Her s 8- (1)
20000+9000+400+00+3
(a7) 29403 (d) 24903
() 24930 (2) 20943
()
The number form of the following expanded form is-
20000+9000+400+00+3
(a) 29403 (b) 24903
(c) 24930 (d) 20943
[ ]
0.37 BT f=1 ¥Y BRT— (1)
37 37
®) 7% @00
@) o (@ 51 % P
()
The fraction form of 0.37 is-
37 37
(@7, (b) 100
(c) % (d) Non of the above
[ ]

o & TS SRl @) B 9 s @RIE) HH § fafgu—  (2+2+2=6)

Write the following numbers in smaller to bigger order (ascending)-

I. 49512, 43905, 39703, 49012

ROUGH WORK
% T


https://whatsapp.com/channel/0029VadqQpq6hENvYjljCv0s

ued 6 frefeaRaa ueAl @1 ga Sifore— (4+4=8)

Solve the following questions-

I WHaT 9IR 9 12 <Al arhl 81 98 39 <ifhdl &Y 6 gl A
RTER—ER dicT el 8, A W ¥ AP 9 B o <ifbar
foerfr?

Mamta bought 12 toffees from the market. Now she wants to divide these

toffees among 6 children, then how much toffees will each child get?
3R / Ans

Il U AleIHSide 10 ofie Ugid # 420 fhaliiey g 09 &=l 8 @
¥aTsy & a8 20 <fiex Ui # fdat o a9 &l ?

A motorcycle covers a distance of 420 kilometers in 10 liters of petrol, then

find how much will the motorcycle cover the distance in 20 liters of petrol?

3N/ Ans

wfsharail Y wHS (Sfh—24)

Understanding of the basic mathematics operations (marks-24)

T 7 10 B IR W = faRag— (1+1+1=3)
R T3 3 B L
TR - B8 © £ [
IR T B 23 B - - S,
Write down the deviation of numbers on base 10-
l. Deviation Of 158 I s e s s s e e
Il. Deviation of 7 © eememesseessesrasesssssssmesssserssessssesssessssessasssssssssssssssssssessssesssmsssssesses
Il DEVIation Of 16 & e ee e ssase s sen s snn s ems s e s s e asenssnnanan

ROUGH WORK
% T



YT 8 | 2011 O SIVMl & AR HICIATST 71 ¥ 6324 ARRATS TAT 5984
Y B, O Sarell T & fol Saen feaer 87 (3)

According to the census of year 2011, there are 6324 women and 5984 men

in Katarwara village. What is the total population of the village—
3R / Ans

YT 9 YA U o 3+ fUArell & HISHIerd H Sl 8 | Ao § U
ATell IS BT Y 125 WY & | FI§ 9 g0l A 11 gof a9 g8l 35 Afdadl J
Aot b a1 qarsy 35 ATl | ol fhdd w0 urad gU? (6)

One day Anshuman went to his father's restaurant. In the restaurant, the cost per
plate is 125 rupees. 35 people has taken the lunch from 9am to 11am. Find how
much money was received from these 35 people have paid.

3N/ Ans

YT 10 G BT 2 DAl H HAY: 18 ofeX T 24 ofick W T 8| 98 A §9 g9
BT AT T B, S Gl Dl & GY DI RT URT AT Feb? (6)

Two milk containers are filled with 18 and 24 litres of milk respectively. What will
be the greatest measurement of a container that can measure total milk of both
the containers exactly.

3N/ Ans

ROUGH WORK
% T



ye: 11 EfaRad g &1 g HIfvTo— (3+3=6)

Solve the following questions-

1. B2 gU P B fRag
Write the missing digits-
4 9 3
-Lls] |
2 5

2. 25 P U 3P DI (A F&AT A oM a1 9Y & IR & 3PS 9 325
TE B W W I U 81?
Which one digit number is multiplied by 25 to get 0 in both unit and tens
place?
3N/ Ans

AU DI FHST (3H—25)
Understanding of the measurement (marks-25)

O%: 12 5 wUU § U B B— (1)

(e1) 50 @) 5
(@) 500 (g) 5000

5 rupees contains paisa-
(a) 50 (b) 5
(c) 500 (d) 5000
[ ]

Ue: 13 UP A9 BT Jed 10 wud 50 UH &, AT VT 81 4 AT BT oI BRT—
(1)
(@) 1050 & (6) 42.00 %
(@) 60.50 & () 40.00 &
()

The cost price of a soap is 10rs 50p, then what is the cost of 4 soaps.-
(a) 1050 & (b) 42.00 ®
(c) 60.50 % (d) 40.00 %

[ ]

ROUGH WORK
% T



U3: 14

o T 9y a1 el | aRafda #ifme—

Convert the following in minutes-

(i) I o1 fafre
4
1
2 2 NOUIS — o minutes
" 1
(ii) e LI — e
1 .
1 > NOUIS — e minutes
1 .
(iii) e L[ e
1 .
5 3 hOUIS — oo, minutes

(1+1+1=3)

Ue: 15 GAIAT SI6IR 9 1 fHAT 400 UM CHICR, 550 UTH €T deim 3 fbar 200
T TR TRIE B 3 ol § 3@l © | Feoll ¥ SH el BT 9R

3R / Ans

fpd=T 9e1?

(3)

Sunita bought 1kg 400 grams tomato, 550 grams coriander and 3 kg 200
grams carrot and put it in her bag. How much is the weight of her bag

increased with vegetables?

e 16 Hell 5 & [Jenfai gRT &dl da ufqaifar # wal i gRAl &1 /1Y 59

JhR B—

ST&HT ARTIO — 1 HieY 20 A< HIex

o — 1 HIex 10 HHICR
AT — 1 Hiex 70 IHER
HEED — 1 HIex 30 T
gdrar — 1 Hiex 50 ITHIER

(1% + 1%=3 )

ROUGH WORK
I% ST



A o o e ad ?

<IN / Ans

i, A BH QU fHA wal 18?7

3R / Ans

In long jump competition of class-V boys/girls, measurement of the jumping
distance is as follows:
1 meter 20 centimeter

Laxmi Narain

Preeti = 1 meter 10 centimeter
Reena = 1 meter 70 centimeter
Deepak = 1 meter 30 centimeter
Babita = 1 meter 50 centimeter

(i)  Which student jumped the longest distance?
3} / Ans

(ii)  What is the shortest distance jumped?
3R / Ans

us: 17 fA=faRad ueal o1 g Pifem— (3+3=6)

Solve the following questions-

i. TP TR &M & IR FFBR T H A BT 80 HIex AT edl @
AT HETE Bl oIl ST DbIfoTu—

To complete four rounds of a square field himanshu has to walk 80 meter,
then find the side of the field.

3N/ Ans

ROUGH WORK
6 FHA



ii. Ud T[S I IHT8 10 HeX TqT drels 9 Hiex B | 39 <5 ®l &%
S DI |
The length and width of a tile is 10 meter and 9 meter respectively, find the
area of this tile.
3N/ Ans

ge: 18 fA=feRRad Ul &) g Pifde— (4+4=8)

Solve the following questions

i. 1S AT |9 e efie} gy ferm?

How much liter of milk will we get from the given measurements?

a) 1 + 1 + 1 + 500ml
ofex ex ex
e airey/liter
b) 1 + 500ml + | 200ml
ofex
T rrrieeees oirex/liter

ii. TP T UMl B SP Bl SR W 9T & Sl TPl & -1 ol ol 39
TH W UM 9eX FhTerdt 81 IfT HUR drel T U B H 25 ofiex gl
WX TAT AT 1T 9l U b H 10 <X Ul 916 Fdbrel df 4 8¢ & 91
SH H Ul BT A fha 8RN, Al URY # <ol fdeger @rell &l ?

ROUGH WORK
% FRT



ROUGH WORK
A water tank is filled by a tap from above while it is emptied by another tap T F

at the bottom if the above tap fills with the speed of 25 liter per hour and
the bottom tap drains it with the speed of 10 liter per hour. After 4 hours
what will be the amount of water left in the tank.( imagine initially the tank
was empty)

3R / Ans

sffrel &1 geeM Ud e o) 9ue (3jH—8)
Understanding of the data handling and pattern (marks-8)

g 19 U U e # arTell g srfi— (2)
2, 4, 8, 16, oo
(@) 20 @) 24
(|) 32 (?) 40

The next number of the given pattern is-

2, 4,8 16, oo,
(a) 20 (b) 24
(c) 32 (d) 40
[ ]
3 20 fear v Y guifar 2— (1)
(o] (o] O O O O 0o oo
o o o O O OO
o (o] o (o] o o z Z ZZ
(1) T TSN Bl (@) Brysia dwmsii
(@) T IxTRA Bl @) 398 | PIs 8




The following pattern shows to-

(o] (o] o O o 0 o oo
o o o O O OO
0 (o] (o] o O o ° 000
O O OO
(a) Square number (b) Triangle numbers
(c) Cube number (d) None of the above
[ ]
TS 21 9001 G SHDH 9 §RT G YRET W8 B AR §d fbar T forad
o= faRaa arfereT T918 — (1+1+1=3)
argd Bl <ol e S
A ATgfdhdl I 14
TR WA Il 7
99 11 3
DN W1 U | 11
qIfeTpT TEHR Feri—
1. G99 SATRT TR dTel I8 HITd 87
B L G T
2. 99 ¥ fdhdd SITET Wher TolR?
B L 5 T
3. Pl oR ATEAl D T RT &7
B L 5 e

Varun and his team had done survey during the road safety week. From which
thay made the table .—

Name of vehicle Tally marks Numbers
Motor cycle W1 U 14
Scoote W11l 7

Bus 1" 3

Car W1 W1 | 11

See the above table and answer the following question—
1. Which vehicle passes the most?

ROUGH WORK
% FRT



we: 22 fm anferer & et & de@r o MR eifere amge | u=t
fore () = 10 fenffat # i 8- (1+1+1=3)

HeE fenfeiai o der <eiferg

I.
IL.

I

Count the number of students in the following table and put the tally marks. Here
the symbol g = 10 students.

Class No. of students Tally Number

L.
IL.

1

11

ROUGH WORK
% T
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AP U 1 T 6 T

fFde— IR TR FHER Drod foRa<—

TA—1 A e qqg 9RaH | 1

(@) fregaT (@) 2T TR

(@) e () gvi-fta®y ()
Y—2 AERTUMYAIIRT 30R A 1RA— 1

(&) PrepT (@) T

(|) @I SEIE ()
Yei—3 peal fedawi Hu yfdemd— 1

(@1) af~e=er®dq

(@) el

(%) e

GRISIECIER ()
TeT—4 IMSTYATOT TSATAYS afd F— 1
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AfATRRID e 7 O 14 G

UR—7 el TeraoT geqar Bl A gHeAd fRad— 4x1 = 4

&) EAIRCANE

@) .

) e

) BiLLcE
3-8 (37) TRIN SRR &: Ui Tda: 3IRa? 2
IR

(@) feafR: @y e gvafe? 2
TR

UT—9 URddsh YA 9! 3 Uad WE el Al dedl aradHI0 Ha]— 4x 1= 4

L s TH:
2. s TH:
B TH:



UT—10 PISD U< MEUTgARY R WA Rag— 4x1=4
AT 1 A gafa | (Rerer:, usedl e o)
P 1< I 2 W wafa | (Riw:, woa a6 ga+m)
ET K13 S et oreAifa | (T%:, uoel U aaeH)
VT TR TSI | (@, T U6 qa-)

ge—11 (37) P I Ifa? 2
TR
@) A TR TARPRI HAd AN & & SIA<I? 2
TR

Ue—12 FeTUATIREEI 81 Talid! fora=g— 2x2=4

1.
2

TeI—13 (31) HATgSl HRAT gd wafd? 2
I
(@) griean: v ey fhq AiRa? 2
TR

UeT—14 & QU W WUST HE JHoAd Ha<l— 4x1=4
@GS AL

(@) 3rafde gaRadIvN waTq T g Fa R

() a1 AT e R TNET TS

(M) 9T T T R

(@) iR oSS TR <ATf: gfaemer



TTRIHBIE: 150: 20 A=A

Ue—15 HooMId: Sfdered forar Radwem qva= 5x1=5
(@gdd, ARFAIRGH, ST, INRY, WH, Ay, smerd:, sifafd, agrHy)

A 115 113 qu: |
2. TRIYDBRIAIE oo |
3. e [P |
B, TR oot qag WRAH |
S 11 1~ OO qqg WRdH |
UTT—16 PIGDH UG LTIARY ¥ fawfad Arotier fora=g— 5x1=5
(O, qu: 3R | ( gf%f YT Uhdas)
2. e | oEd: FesuiaRldl (Hfd, Jarar ghaT)
< T gftesTe™ siawged | ([, zrqgell fga=rs)
A et D1 URTEH ARG | (PfA, TSI Thgers)
T ga: fadf | (AR, a<l 9ga=y)
Te—17 Jaraaiad wl: Reaaerd Rasj— 5x1=5
i N A Y (D) shrsid |
, G Y (SF®) A8 T |
@ ' > 3 (geravs) foraf |
B e (UTal) T |
T (€€) STt ST |
ge—18 T SfoFew RaRar SRawd Ra<]— 5x1=5
fefar TeheaH EEERE RERERE!
(O 1 d ar
2. fg<mn £512 (T ar
3. gdrn aan TR e
4. FFA araTq arg
5. gl SAIE SIEIE arg
6. U TR TAL



UeT—19 HIBDHY Yad-AFH AHaHNR Ty forRacr arwi qRag— 5x1=5
(@) (2) oo gl |
) G0 ) I qEe |
(L)L) faqar: |
(&) (77) oo STATRATT |
(I C10) AERT: |
ye—20 3 yehRia @wd Rad I fora— 5x1=5
Lo e
2 e
S S
. W, WA,
T G . N

fRe=TEeuTET: 21 9@ 22 wwH

T—21 ATRYaRRIATOT AT TR~ 6x1=6
R T |
2 R |
3 U e |
< TR |
LT IO |
ST IV |



AT

- 1
TATER—{HI0] =] — 1-x4=6
LT |
725 1 |
I |
R |
TTT—22 1-x4=6
(31) eafsr gguor wef wafa?
LA 53 S






































































i e SRR R Hedih 2025
fawg — G

‘D&l — 5
i ' SR / EAROT KLE ST fargetsor i Pree
kil TS BT A i / e o/ AT
OT | vSA | sA [ET| OT [vsA| SA [ ET [OT[vsA| sA [ ET | OT [vsA| SA [ ET [OT [VSA[SA| ET | OoT [VSA | sA | ET

LS CARE 3 1(3) 1(3)
2 | WO H BYI: hagy 4 1(4) 1(4)
3 [Haq WRAH (i) | 3 [1(n) -(2) 1(3)
4 [ATRRIAN 6 1(6) 1(6)
5 [SPRI Yy Uoal: 5 1(5) 1(5)
6 [fRARIR: 4 1(4) 1(4)
7 [qdian fayied: 5 1(5) 1(5)
8 [Tt fqufda: 4 1(4) 1(4)
EEREIERICE 1|1y 1(1)
10 T TqHTRT: 4 14) 14)
11 |fqHa =Em 1 1(1) 1(1)
12 [qoHT [T 5 1(5) 1(5)
13 | YRAH: 1 1(1) 1(1)
14 | qAIGT: 4 1(4) 1(4)
15 |G 4 1(4) 1(4)
16 (TS AR 5 1(5) 1(5)
17 [ TR 5 1(5) 1(5)
18 |dTIcTehT AREUTH, 4 1(4) 1(4)
19 |RRIdeT 7 Higwafd 1 11) 1(1)
20 | 3{d[Hdd ZARAdIUI &Tq 4 1(4) 1(4)
21 |HTdgIRD sal: 1 1(1) 1(1)
2 | d-aY: 3 13) 13)
23 [q&H geall 3 -(3) -3)

arr 80 | 33) | 1(4) 22) | 1) | 1(5) 14) | 3(15) 14) | 1s) | 1(6) | 2(1) | 3(12) | 1(5) 1a) 16) | 22(s0)

AT 4(7) 4(11) 4(19) 3(15) 5(18) 2(10)

%—Wqﬁwmwﬁwa%wmmaﬁmw%




e - T RS M o -
SRR & / DT uS ¥ | OT | VSA |SA | ET | OT |VSA| SA | ET |OT|VSA| SA | ET |OT|VSA | SA | ET|OT| VSA |SA | ET |OT|VSA|SA | ET

SMRRT TF I B F 16 1(2) 1(6) 2(7)

T | @ A 1,67 | 2(2) 1(8) 1(6) 4(16)

<ifsarail @ awE 2,3,4,5,7 2(6) 2(12) 1(6) 5(24)

AT B T 10'111'111'13 1(1) | 13) 2(6) 1(8) | 1(1) 1(6) 7(25)

ﬁa S T3 v e 8,9 2(2) | 2(6) 4(8)
T 4(4) | 1(3) 2(2) | 6(18) 1(8) | 1(2) 3(18)| 1(8) 1(6) 1(6) 1(6) 22(80)
FAART 5(7) 9(28) 5(27) 1(6) 1(6) 1(6)




&<+

UlM@INl / TANE

N1H3

1A 191l Sl o | vt/ @lkler | [l
wH ,
ferT &7 / Blerer [Ure e ﬁ oT VSA |SA |ET |OT [VSA|SA |ET |OT | VSA |SA |ET [OT |VSA [SA [ET |OT |VSA|SA [ET (OT |VSA |SA |ET
1 TGHT FAF AR T™ — 22 | 5(5) 1(8) 1(3) 1(6) 8(22)
Kiiceagiicn e — 13 | 1(1) 1(3) 1(6) 1(3) 4(13)
St —yeww, fem, o
2 |mEERe =@ =, T, watEarE, gy 13 | 1(1) 1(3) 2(6) 1(3) 5(13)
ElEacatus
3 (qorens sttt ;Tﬁh“ qf" Frder T 2 1(6) 3(18) 4(24)
4 R wemmEr :Sa‘ﬁq”ﬁﬁﬁg‘fw 8 1(8) 1(8)
T 80 | 7(7) 1(3) 2(16) 4(12) 2(12) 2(6) | 1(6) 3(18) 22(80)
FHerdNT 7(7) 3(19) 4(12) 2(12) 3(12) 3(18)

Alc— BIod B I} IPUR (4 BISD D Y U ST DY QT T4l




Sreo| SFHRY / FROT SiGE] STIIRT farweryor HeAiD o /B | AT
IR &7 /et 16 w&n 31:; OT |VSA| SA | ET | OT |VSA| SA | ET | OT |VSA| SA | ET |OT|VSA| SA |ET| OT |VSA | SA | ET | OT |VSA| SA |ET
: o TE — 2,3,5,6,7,9,10,12,14,15,16,17 22 | 22) 2(2) | 3(9) 1(8)| (1) 9(22)
T — 14,8113 13 | 1(1) | 1(3) 1(6) 1(3) 4(13)
TR ATHRoT Suwt —weww, oW, arer <, 13 | 1(1) 2(6) | 1(6) 4(13)
qorTe AR [9ag, s, wE, R A few 24 1(6) 3(18) 4(24)
B aRaeha worTr § wew gRET U6
; et aftafE £ 8 1(8) 1(8)
L 80 | 4(4) | 1(3) 2(2) | 3(9) 1(8) | 1(1) | 2(6) | 1(6) 2(12) 1(3) 1(8) 3(18) 22(80)
T 80 5(7) 6(19) 4(13) 2(12) 2(11) 3(18) 22(80)
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1 |Lexical items 4(4) | 2(4) 1(2) 7(10)

2 |[Structural items 2(4) | 1(6) 4(8) | 1(6) 8(24)

3 Reading . 5(30) 5(30)
comprehension

4 |Writing 2(16) | 2(16)
Total 4(4) | 2(4) 3(6) | 6(36) 4(8) | 1(6) 2(16) | 22(80)
Grand Total 6(8) 9(42) 5(14) 2(16)
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R &= / Breret s & ame | OT |VSA| SA | ET | OT |VSA| SA | ET | OT |VSA| SA | ET | OT |VSA| SA | ET | OT |VSA| SA | ET | OT |VSA| SA | ET
1| it T 5 T 1,8,12 8 |1(1) 1(1) 1(6) 3(8)
2[R PrEre
(arfirafirr / =rerf) 2,3,4,57,14 12 [1(1) 1(8) 1(3) 3(12)
3[affepxor @
6,11,14 11 1(3) 1(6) 1(1) 1(1) 4(11)
¢ A 10'11'132’;6'17’2 17 -3) 1(3) 1(3) 1(8) | 3(17)
5|9 HRAT ’
9,11,15 9 2(6) 1(3) 3(9)
Bepukas
18,19,20,25 12 1(6) 2(6) 3(12)
7§ GHAT & Ui
Rt 21,22 4 1(1) 13) 2(4)
8[TH GER PrEl P A
T o B B 22,23,24 7 1(1) 1(6) 2(7)
T 80 |2(2) |1(3) |-(3) 1(1) |1(3) |1(6) {1(8) |1(1) |3(9) |1(6) 1(1) 2(3) |1(6) 1(1) 1(3) 1(1) |3(9) |1(e) |1(8) |23(80)
g 3(8) 4(18) 5(16) 3(10) 2(4) 6(24) 23(80)
Ae— PIBG D IR FHAR Td PIOH & qIEY T T $Y T 197 3




MRS ™ NEITTIRAZENTL /NI A4} \H‘Ax‘ll‘l L e Y B I | ';_l\\"‘ll‘f"l ‘lvl'l/ MAISIENT iU
X
SRR &= /P | UG AT |9 9| OT |VSA| SA | ET | OT |VSA| SA | ET | OT |VsA|SA | ET | OT |vsa| sa | ET | oT |vsA | sAa | ET | oT ‘:\S SA | ET

e i 22 |303)|102) 13)| 13) | 15) 1(a) 1(4) o(24)
e fere A 18 |1(2) |1(2) 1(4) 14) 13) 1(a) 6(18)
2 aERe =R n 1(5) 1(5) 1(1) 1(10) | 4(21)
3 gorrees aiftreafe 10 1(10) | 1(10)
4 uRaeia Forrar 7 1(2) 1(5) | 2(7)
i a4) | 2(4) 13)| 312) | 1(5) 2(9) 11)|12)| 1(4) 1(3) | 1(4) 1(4) | 3(25) | 22(80)

T 6(8) 5(20) 2(9) 3(7) 2(7) 4(29)
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